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1. The	value	of	3.06	✕	8.1	is
(i) 24.886 (ii) 24.986 (iii) 24.786 (iv) 24.586 (v) 24.686

2. The	value	of	2.03	✕	6.3	is
(i) 12.5890 (ii) 12.6890 (iii) 12.7890 (iv) 12.9890 (v) 12.8890

3. The	value	of	7.1	✕	4.28	is
(i) 30.58800 (ii) 30.48800 (iii) 30.18800 (iv) 30.28800 (v) 30.38800

4. The	value	of	2.3	✕	8.1	is
(i) 18.6300 (ii) 18.7300 (iii) 18.4300 (iv) 18.5300 (v) 18.8300

5. The	value	of	8.6	÷	5.6	is
(i) 1.54 (ii) 1.64 (iii) 1.44 (iv) 1.34 (v) 1.74

6. The	value	of	4.5	÷	10.61	is
(i) 0.62 (ii) 0.52 (iii) 0.22 (iv) 0.32 (v) 0.42

7. The	value	of	33.02	÷	37.09	is
(i) 0.79 (ii) 1.09 (iii) 0.99 (iv) 0.89 (v) 0.69

8. The	value	of	55.19	÷	2.19	is
(i) 25.10 (ii) 25.20 (iii) 25.00 (iv) 25.40 (v) 25.30

9. 69.7	✕	______	=	174.2
(i) 1.5 (ii) 4.5 (iii) 0.5 (iv) 3.5 (v) 2.5

10. 40.66	✕	______	=	82.95
(i) 1.04 (ii) 3.04 (iii) 0.04 (iv) 4.04 (v) 2.04

11. -1.467	✕	______	=	-16.944
(i) 10.55 (ii) 13.55 (iii) 12.55 (iv) 11.55 (v) 9.55

12. 34.0953	✕	______	=	1674.0963
(i) 49.1005 (ii) 50.1005 (iii) 51.1005 (iv) 47.1005 (v) 48.1005

13. 429.2	÷	______	=	50.5
(i) 8.5 (ii) 9.5 (iii) 7.5 (iv) 6.5 (v) 10.5

14. 131.47	÷	______	=	3.99
(i) 34.95 (ii) 32.95 (iii) 30.95 (iv) 33.95 (v) 31.95



15. 5324.127	÷	______	=	67.967
(i) 78.334 (ii) 79.334 (iii) 80.334 (iv) 76.334 (v) 77.334

16. 1444.6533	÷	______	=	31.7773
(i) 46.4618 (ii) 43.4618 (iii) 47.4618 (iv) 44.4618 (v) 45.4618

17. Which	of	the	following	is	true?
(i) 0.5+0.2=0.3 (ii) 0.9÷0.0=0.00 (iii) 0.9+0.6=0.3 (iv) 0.8✕0.6=0.48

18. Which	of	the	following	is	true?
(i) 0.06÷0.02=0.0012 (ii) 0.01÷0.10=0.10 (iii) 0.08÷0.07=0.0056 (iv) 0.08✕0.06=1.33

(v) 0.06÷0.03=0.0018

19. Which	of	the	following	is	true?
(i) 0.004+0.002=0.002 (ii) 0.006−0.001=0.007 (iii) 0.009−0.005=0.014 (iv) 0.004÷0.001=4.000

(v) 0.008+0.003=0.005

20. Which	of	the	following	is	true?
(i) 0.0009✕0.0002=4.5000 (ii) 0.0008+0.0004=0.0004 (iii) 0.0002✕0.0001=2.0000

(iv) 0.0003−0.0001=0.0004 (v) 0.0005−0.0004=0.0001

21. Which	of	the	following	is	true?
(i) 77.4✕74.0=1.0 (ii) 60.2✕10.4=5.8 (iii) 51.2−7.6=58.8 (iv) 59.5+26.5=86.0 (v) 58.1−39.9=98.0

22. Which	of	the	following	is	true?
(i) 82.53+62.38=20.15 (ii) 88.62✕87.64=1.01 (iii) 54.83✕10.64=5.15 (iv) 81.57✕25.91=2113.4787

(v) 44.15+6.23=37.92

23. Which	of	the	following	is	true?
(i) 79.027÷57.440=4539.310880 (ii) 42.163−5.121=47.284 (iii) 87.545+19.729=67.816

(iv) 82.713−65.687=17.026 (v) 67.899−39.811=107.710

24. Which	of	the	following	is	true?
(i) 47.0411÷42.8441=2015.43359251 (ii) 99.9155+48.7460=51.1695 (iii) 18.2889+3.9037=22.1926

(iv) 75.4830÷27.2145=2054.23210350 (v) 88.9023✕66.3404=1.3401

25. 4.04	✕	8	=	______
(i) 30.32 (ii) 33.32 (iii) 31.32 (iv) 34.32 (v) 32.32

26. 2.08	÷	9	=	______
(i) 0.2311 (ii) 7.2311 (iii) 2.2311 (iv) 8.2311 (v) 1.2311

27. 2	✕	7.04	=	______
(i) 14.08 (ii) 16.08 (iii) 12.08 (iv) 13.08 (v) 15.08



28. 2	÷	6.01	=	______
(i) 2.3328 (ii) 1.3328 (iii) 0.3328 (iv) 8.3328 (v) 7.3328
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